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ed t(D fmd‘a ern, or T
I'-I' s é:Hnl ¢ -eoncernlng ap‘a ern. So fl:;.m de a
ks small noté to myself: if 1/3 beads are blue, 2/6
beads are blue, 3/9 beads are

%,rwell then,
surely the blue beads must be a‘third of the
total amount of beads!




]
| | |

r L E

.l'f'- y * ONE I'| rk, - ‘ \ I Y,
' ﬂﬂ..ﬁ -tc') Bﬁtl‘lo ,.1"‘?‘ , "'#*, ‘

5 3.3 of
L. a bead? mp033|ble' The E'SI pmbaﬂ‘ly alls in
- the middle of the pattern. Say" you are at 3x9,

which means each bead is'in t attern 9

times, but you reach 160 beforethe blue totals

nine beads. That means you finish the amount

of beads, before the pattern finishes.
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k- 50, egin this edu ior JI.{
' 4 9x3 q-><3+4x3+5x3....*._ 3‘-160 Fhave
- find out, which number (multqplled by 3) comes

closest to 160 without going ovegsAfter many

trial and error experiments, theresults came in,

displaying that 9, is the number.
1x3+2x3+4x3+5x3+6Xx3+7/x3+8x3+9x3=135.
This means | must start at 135, and continue
the pattern, with each bead in the pattern 10

times.
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1454(green)10=155. 155 still dogsn't reach
u- 160. ‘FI'D J'muSt add ten t% to g@hthe blue
k. pattern Ahal The blue does é‘ut the pattern.
From 155 to 160, only 5 bead: ‘needed to

reach the goal number of beads, but 10 are
needed to finish the blue bead patte_rn.




» Froblem-
|_|' ]

.*f b

VV . | TINIS \/ _ 1. (0] :
blues to .- But hat[cf'b s a '7 [ o»"W-'#n ed
A.Lé"c Ol ﬁo | must take the 'malnl g 5 and
. keep it stored in a safe place-"for the time being.
| took 135, divided it by 3, too the 5, and

added it to the quotient. 135/3+5=.50.
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" THERE WILL BE 50 Blf
THE NECKLACE HAS 160'F

TOTAL.

BEADS IF
EADS IN






.

!.

"f . LR
& 3. |$!) Maferlals (Golde Qomp
& Trllogy,)_

4. Percy Jackson and the Olyr@ns
5. Star Wars
Answer. Sherlock Holmes

Strategies. Gathering Blue (2nd book to 'The
Giver')






